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Name Number of total /
,l Problem identification I E?g;g:;::'s =1
PR M 5.1 1
__._.‘.3_5_‘;?__.__55,_ Problem statement
CALCULATE THE MASS NECESSARY TO BALAMNCE THE BEAM SHOWN,
Ml_Q!SS 4?;‘: kg Sketch showing known data
- / and unknown quantity
L4.00 m"""—ﬁ.m m —_"l
THEORY Engineering principle
FOR AN OBJECT IN STATIC EQUILIBRIUM, Z M =0
5 WHERE M, 1S THE MOMENT PRODUCED BY EACH FORCE ABOUT

Ed THE PINOT O. - 2
P . Assumption necessary 2
Z ASSUMPTION to work problem B
8 " THE MASS OF THE BEAM IS NEGLIGIBLE. o 3
2 SOLUTION |
-+ SUMMING MOMENTS ABOUT 0, CCW POSITIVE (LET g=ACCEL. OF GRAVITY)| §,
= 7]
] 3 M, =(MASS) g(4.00m)-(40.0 kgHg)(B.00m) =0 §
b= =]
£ Step-by-step (40.0 kg)(B.00 m) s ! T = T

o - = Ok \ S

solution i (4.00m) soo% \ =

! Double underline
Separate problems answer with units

PROBLEM 5.4

SOLVE THE FOLLOWING EQUATION FOR S: S®*45546=0

THEORY
APPLY QUADRATIC FORMULA.

= R
“b*vb -4dc \uepe ast+bs+c=0

sl 2a
SOLVTION _ _5+/B7-4((e) _-5¢V25-24 _-5%\__, ,
20) =g 2 R !
$s=-23, s=-2— A S
_— EPPRR
i |

In this example, no assumptions or diagram is needed l
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